=
<

g 5
= 8
o o
B/ o]
1072
.910—3 ......! L inn
= L
o sl
107 1 10 10 camiing 8 107 1 10 308 amiind 8
TP, (PCATtO beamllnef) TP, (PCATO beamllnef)
—=— DQM_MKFIL_TTbase
—e— DOQM_mkFit5_TT retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT _Dbaseline_6iter
—— DQM_mkKFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD
=~ 1 =
= 1]
2 e
> g“‘
5 S
35 [¢]
107!
107!
o NEAT RN N I BT
1 1L
. l] "
-1 2 3 -1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f) 10 ! TPlp?T (PCA tjbobeamliné'f)
~ 1
2
—
o
=)
o

HED

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o




	Contents
	Page 1


